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German A level Component 3

All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
Qlb AO3 1 8 20 40 2.3

| Qsar03 | 3 | 193 | 06 | 20 [ 967 | 68 |

| asbao3 | 1 | 20 | | 2 [ 100 | 23 |
| aebaos | 3 | 137 | 47 | 20 | 683 | 68 |
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Karin Konig: Ich fuhl mich so fifty-fifty [20]

(a) Was erfahren wir Uber das Bildungssystem in der ehemaligen DDR in dem
Roman und wie bewertest du das?

AO4

In this story about teenagers growing up in East Germany, the reader
learns about some important aspects of the education system in the GDR.

In response to the essay question the candidate may:
o identify key features of the education system
¢ comment on these key features
e compare this with the system in present day Germany

The above points are suggestions only and are not exhaustive. Look for
and reward all relevant points argued by the candidate.

© WIJEC CBAC Ltd.
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Sticky Note

In a 300 word essay, as words are scarce then only a brief introduction is advisable.  This one has fewer than 30 words, which is just right.
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Sticky Note

The candidate demonstrates they can form complex sentences with confidence in this and other paragraphs.



Sticky Note

There are few errors, but this is a significant one ("überhören").



Sticky Note

Many high scoring essays show signs of good planning.  This can be seen by the good use of phrases like "Eine weitere Sache" (previous paragraph) and "Eine letzte Sache" (here).  These link ideas and give the essay a sense of "coherence".
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Sticky Note

AO3 - There are very few mistakes at all here and a lot of very accurate language. There is a wide range of lexis and structure and some very good idiom.   10/10
AO4 - This is a critical appreciation of the book.  Its focus on the work itself is a bit narrow so it does not quite make Band 5, although there are some elements of it.  A number of points of view are justified and developed.   8/10 
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Sticky Note

This is not a major error, but candidates do need to distinguish between "Schüler" and "Student/en".



Sticky Note

This kind of sentence indicates that the student knows the book well, but unfortunately the final relative clause doesn't really communicate what is meant.





Write the two digit question Leave
number inside the boxes next Answer blank
to the first line of your answer

1 def DO WA 2§ maonk ; dasy eN |
e Sarge (ol ﬁmju\u w\ﬁ)_
J *‘,gmig._._ LS oS¢ SvonenaucA Y]

1 ool Rgacea iV (UG )imﬂ\mj WA |

R A VN .\ VN 10 & T SO maewaen . |

4 I dy Sak 5 du f—\R—Q%Q)\JAAf oo |

1 s Shudonkea  oanmon oA |
NU/(B) Y\ Q NI SN AM‘\LU\Q/V\ )

1 B % NSO g Q/;e,_w ool 8

W noen Sooine Qo SCneado A (\LLC/\/\ L
WesVn  dlgeden. S Woaa asdnd ]
Jogn m@a@gﬂw S |
1 ouaven .

4o Sapne uad G o fwﬁ_
1 Katun uade Roococke  wued Spakey |

RN AN 7 AV S YT N NS U B B
_AQMLLQ,UQ gfupee 9{%&(\&%@ -
1 SO Yong . S woloa o |
1 Peaie Sy LA A0l Swe uassen
2 c,\QJA WO von (e Jdaude b
_M%xmmm@*_*i, |

_;W\A,,, Sl o S I

5 I
8706



Sticky Note

The final sentence is an example of one where understanding is affected by "a high incidence of basic errors".



Sticky Note

It seems clear that the candidate ran out of time, as this looks like a closing paragraph.  It was the second of the two essays and the first one overshot the 300 guide word limit.  If it had been shorter the candidate might have had enough time to finish this essay (c.225 words) and gain a better mark overall.



Sticky Note

AO3  - There is a high incidence of basic errors (especially word order).  There are a number of incomplete or incorrectly formed sentences.   The language shows limited idiomatic knowledge.  Some lexis is lacking and the style and register is simple.  It is still intelligible so it sits at the top of Band 2.    4/10
AO4 - This essay might just have made Band 3, but partly due to its length only "a superficial knowledge" is shown.  Some points of view are expressed but the quality of language only conveys a little "supporting evidence".   4/10
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Sticky Note

"mit demjenigen, das es heute gibt."  is good, accurate German.



Sticky Note

Many candidates expressed the idea of "throughout" with "durch". 
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Sticky Note

"Vertraut" is a good example of language in this essay which is "nearly" correct.  The candidate obviously wants to convey the idea of "(no longer) being trusted".  There are other examples too where the candidate unfortunately only just falls short of accuracy.




Sticky Note

Good use of "wessen".



Sticky Note

AO3 - There is some accurate manipulation of language in this essay, some of which is flagged up above.  There are a few mistakes too, both major (e.g. "abgehaut" instead of "abgehauen" "wurde" instead of "würde")  and minor ones (e.g. genders, case).  The lexical range is good although there are a few mistakes here too.  Idiomatically it is overall quite good.  AO3 = 7
AO4 - The major criticism of this essay is lack of direct reference to the book.  Some valid points are raised but these are not always directly linked to the book (n.b. a critical appreciation of the literary work has to be shown for Band 4 or 5). It would score higher with more examples (e.g. instances when pupils were afraid to express their opinions).  The candidate shows knowledge of the book and gives views which are supported.  This best fits into Band 3.   6/10










Du musst zwei Fragen beantworten; entweder Uber ein literarisches Werk und einen Film oder
Uber zwei literarische Werke. Du darfst nicht Gber zwei Filme schreiben.

Du darfst nicht Uber ein literarisches Werk oder einen Film schreiben, das/den du als
Independent Research Project fir den Sprachtest vorbereitest hast. Fir jeden Aufsatz schreib
ungefahr 300 Worter.

2. Karin Konig: Ich fiihl mich so fifty-fifty [20]

Entweder

(@) Was erfahren wir Uber das Bildungssystem in der ehemaligen DDR in dem Roman und
wie bewertest du das?
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6. Bernhard Schlink: Der Vorleser

Oder

(b) Wie bewertest du Hannas Worte an Michael im Gefangnis: ,Du bist erwachsen
geworden Jungchen” ?

[20]

AO4 All throughout the book Hanna refers to Michael as “Jungchen”.
In response to the essay question the candidate may:
e assess why she called him “Jungchen” when they first met

e consider the implications of Michael’'s unquestioning acceptance of
being addressed in this way

e discuss the significance of growing and growing up in this novel

The above points are suggestions only and are not exhaustive. Look for
and reward all relevant points arqued by the candidate.
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Sticky Note

This opening paragraph has some very accurate German but also some significant errors (e.g. "verbringt" and "einen Erwachsenen").



Sticky Note

This kind of construction (wanting someone else to do something) proved quite a challenge for many candidates.



Sticky Note

Candidates often needed to take care to distinguish between "trotz" (preposition) and "trotzdem" (conjunction).
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Sticky Note

Not using the vowel modifier (ö) in "konnte" constitutes a major error. 



Sticky Note

"Selbstmord begehen" is an important phrase in this book and candidates need to practise it to get it right.



Sticky Note

AO3 -  This essay does contain some very accurate parts, but also some errors (of which some are basic) and some sections are hard to understand.  There is also a similar mixture of standards in lexis and idiom.  5/10

AO4 - Some good points are made at the start and it looks like a promising essay.  But it soon becomes irrelevant (moving away from Hannah) as though the candidate had run out of things to say.  Although the impression is that they do know the book, as only a little of relevance is communicated this essay moves into Band 2.  4/10





Write the two digit question Leave
number inside the boxes next Answer blank
to the first line of your answer
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Sticky Note

The use of "viele" instead of "viel" is not a major error but nevertheless  occurred in many scripts.










Write the two digit question Leave
number inside the boxes next Answer blank
to the first line of your answer
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Sticky Note

The format of the exam paper question lends itself to being restated in the candidate's answer using indirect speech (and the subjunctive) which the candidate tackles well.



Sticky Note

Although the candidate is not always successful with case, s/he does manage it well here with their accurate use of the genitive.





Write the two digit question
number inside the boxes next Answer
to the first line of your answer
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blank



Sticky Note

As A level essays require judgment, this is a good sentence start ("Dieser Satz könnte bedeuten, dass..... ) and the candidate has used it well here. Later on they also use "Man könnte auch argumentieren, dass....." accurately.



Sticky Note

This is an example of a significant error, of which there are only few in this essay.



Sticky Note

Strong candidates should be encouraged to use conditional constructions like this one,
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to the first line of your answer
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Write the two digit question :
number inside the boxes next
to the first line of your answer
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Sticky Note

AO3 - Overall manipulation was accurate.  As commented on above there are some very accurate constructions and uses of grammar.  There were also a number of errors (some major and minor (e.g. cases, genders, adjectival endings)).  Use of lexis was good and even very good, so this essay sits well at the top of Band 4.  
8/10

AO4 - This is a critical appreciation of Der Vorleser and there is some good evidence.  There is also some slight deviation from the question. All the same some relevant points are made and there is some development.      7/10
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Sticky Note

Use of "Zum einen...."  and in next paragraph "zum anderen...."  If used well, as they are here, these short sentence starts can give a good structure to an essay (adding "coherence").  



Sticky Note

Although the "zu" in the construction ("Bernhard Schlink lässt uns denken, dass....") is unnecessary this is a useful structure to use in an essay like this. 





Write the two digit question
number inside the boxes next Answer
to the first line of your answer
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Sticky Note

AO3 - Although there are errors, mainly minor ones, this essay is overall consistently accurate.  There is a wide range of lexis, grammatical structures and idiom.  The style and register is certainly appropriate to the task.  It is in the lower part of the band due to a few inaccuracies.   9/10
AO4 - The candidate clearly knows the novel well, and does make some very interesting points (e.g. in paragraph 2) but not all of this essay is relevant to the question (e.g. in paragraph 3).   6/10
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to the first line of your answer
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to the first line of your answer
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to the first line of your answer
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to the first line of your answer
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to the first line of your answer
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to the first line of your answer
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Die Filme

7. Wolfgang Becker: Good Bye, Lenin! [20]

Oder

(b) Wie wichtig ist Alex’ Freund und Kollege Denis Domaschke im Film?
Begriinde deine Antwort.

AO4 While working in the newly reunited Germany, Alex acquires a new friend in
his colleague from the West.

In response to the essay question the candidate may:
e describe and analyse Denis as a character

e consider Denis’ initial attitude to Alex when they are paired together
at work

e assess key events in the film and Denis’s role in them

The above points are suggestions only and are not exhaustive. Look for
and reward all relevant points arqued by the candidate.

10
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number inside the boxes next Answer blank
to the first line of your answer
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Sticky Note

In this sentence and the previous one, the candidate shows accurate grammar through their use of verb-subject inversion.  This is a promising start.
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number inside the boxes next Answer

blank
to the first line of your answer
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Sticky Note

Candidate almost got this construction with "anlügen" correct. (n.b. this is an important construction for this film), but the verb is incorrectly conjugated.



Sticky Note

Inconsistent use of subordinate clauses - sometimes candidate shows accuracy, other times (e.g. here) s/he doesn't.



Sticky Note

This was a common error with many candidates (low and middle scoring) - using part of "durfen" to express "to allow" (i.e. transitive verb).
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Sticky Note

Many lower scoring candidates mistakenly used "endlich" in their final summing up paragraph.



Sticky Note

basic error



Sticky Note

It is unclear what the candidate meant here. Assuming this says "meinen", this was often misused to express "mean" by lower/middle scoring candidates.



Sticky Note

AO3 - There is a mixture of good grammatical accuracy as well as a lot of inaccuracy, which place this in Band 3. There are quite a few major errors (with verbs) and a number of minor ones (adjectival endings/cases/genders etc.). Lexis is a bit straightforward and there is some repetitiveness. The style is generally appropriate. It is pretty clear throughout what the candidate is trying to communicate.    5/10

AO4 - The candidate clearly knows the film quite well ("sound knowledge"). Some "evidence" (points) is irrelevant. Points of view are expressed but not well backed up, which makes the essay more descriptive than critical or analytical. There is little sense of argument and the main points are not evaluated effectively.    
5/10
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Sticky Note

"Repräsentiert" is misspelled, but candidate is not penalised for misspelling per se (unless a word is so badly misspelled as to be unrecognisable). There are other misspellings in the passage too. 
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Sticky Note

This is one of the few major errors.



Sticky Note

 "Hat" should go with "die Generation".



Sticky Note

Candidate makes good use passive structures and this is an example.
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to the first line of your answer
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Sticky Note

AO3 - Overall this essay is consistently accurate (despite a couple of major errors). It has a wide range of lexis, grammatical structures (including passive structures, use of inversions etc.) and idiom. The style and register is better than "appropriate". All of these factors place the essay firmly in Band 5. 
10/10

AO4 - This is a critical appreciation which includes some evidence (although not all of it is relevant).  Points of view are justified and developed. There is a degree of analysis. It falls easily into Band 4.
8/10




Sticky Note

This kind of passive structure can be learned and used in probably all of these kinds of essays.
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Sticky Note

"Sind" is an example of a "basic error", of which there is a "high incidence" in this essay.



Sticky Note

"Hilft" - although the verb is conjugated correctly, its position in the subordinate clause is incorrect (which is also a "basic error").
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Sticky Note

There are a number of errors of varying degrees in this sentence but the reason it is being flagged up is that many lower scoring candidates this year tried to translate "(who is) called" in this way i.e. with a simple verb as opposed to a relative clause. 
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Sticky Note

Infinitive clauses with or without "um" often caused problems for lower scoring candidates.



Sticky Note

Many lower scoring candidates tried to express "to sum up" in this way.



Sticky Note

AO3 - There are few accurate sentences in this essay (although we know what the candidate is trying to say), due to the  "high incidence of basic errors" .  At times this essay is hard to understand. Complex structures are attempted but overall not successfully. There is limited idiomatic knowledge.  The style is simple.   4/10

AO4  - This essay fits best into Band 2 rather than 3.  The knowledge communicated is more "superficial" than "sound"  (due to inaccurate language).  Some points are communicated but with "little use of supporting evidence".  Overall this is a "partial response".
4/10 
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